10.

11.

12.

13.

14.

Revisionlll

a. Fifty-nine b. Onehundred two

c. Two hundred ninety-four d. Fivehundred seventy-six

e. Six hundred forty-two f.  Sevenhundred seventy

g. Three hundred thirteen h.  Three hundred six

i.  Eighthundred twenty-nine j- Fivehundred eighty-three

k. Eighthundred one /. Nine hundred ninety-eight.

a. 649 b. 111 c. 940 d. 402

e. 710 f. 507 g 264 h. 315

i 716 j. 808

a. 600+40+7 b. 800+10+7 c. 600+30+0

d. 300+0+7 e. 500+900+3

a. 333 b. 710 c. 512 d. 680

e. 207 f. 997

g. 3x100+2x10+8=300+20+8=328

h. 2x100+3x10+9=200+30+9=239

i. 4x100+0%x10+5=400+10+5=415

j. 8x100+2x10+6=800+20+6=2826

a. 300+50+7=357 b. 200+20=220 c. 400+9=409

d. 70+5=75 e. 800

a. Thelargest 1-digitnumberis 9.

b. Thesmallest I-digitnumberis 0.

c. Thesmallest2-digit numberis 10.

d. Thelargest2-digit numberis 99.

e. Thesmallest 3-digit number is 100.

f.  Thelargest 3-digit number is 999.

g. Thereare 10 1-digit number.

h. Thereare 90 2-digit number.

i.  Thereare 999 3-digit number.

a. < b. < c. > d < e. <

f. = g < h. < i <

a. 106,601, 160,660, 606 b.  495,695,905993)395

c. 345,434,333 534,344 d. 209,909(939 309,509

a. 63<93<178<215<302 b.  909<925<945<963 <999

c. 175<275<375<475<875 d. 446<468<648<664<864

a. 207>117>107>73>71 b. 901>1219>91>90>19

c. 863>836>746>713>638 d. 217>175>135>108>69

Counting by tows = 393+2=395; 395+2=397; 397+2=399;
399+2=401; 401+2=403;. 403+2=405

Counting by threes = 171+3=174; 174+3=177;, 177+3=180;
180+3=183; 183+3=186; 186+3=189

Counting by fives = 907+5=912; 912+5=917; 917+5=922;
922+5=927;  927+5=932;

Counting by twenties = 429+20=449; 449+20=469; 469+20=489
489+20=509; 509+20=529.

1

Mathematics-3



15. Counting by hundreds =449 + 100=549; 549+ 100=649; 649+ 100="749;
749+100=2849; 849+100=949
16. 3-digits numbers by using 7, 3,9, s 739, 793,379, 397,937, 973.
17. 3-digits numbers by using 5, 0, 2 is 502, 520, 205, 250.
18. Place value 0f4in 463 =400
Place value of 6 in 463 =60
Place value of 3in463=3

19. a. ©) b. ©) c. ©) d. ©)
4 7 4 4 3 8 7 9
+ 5 3 + 29 + 3 7 + 3 6
1 00 73 75 115
e ©) f. ® g ©) h. ©)
35 8 4 9 2 7 2
+ 2 2 + 1 8 + 4 8 +* 8
+ 1 6 + 2 6 + 1 7 + 2 2
7 3 1 28 1 57 1 02
i O L 00 | 00
4 73 J: 7 8 2 538 4 7 6
+3 1 4 +1 2 7 + 6 2 +3 2 7
7 8 7 9 09 6 00 8 0 3
m. OO n OO 0 0]©) p. @O
1 25 41 2 2 3 58 7
+2 4 6 + 3 8 +1 2 4 + 7 4
+3 5 2 +1 7 5 +4 8 5 + 6 3
72 3 6 2 5 6 3 2 72 4
20. a. 379+482 b. 407+295 c. 680+108
©]O, ©)O,
379 4 0 7 6 8 0
+4 8 2 +2 9 5 +1 0 8
8 6 1 70 2 7 8 8
d. 100+78+469 e. 259+45+284 f. 723+11+147
©)O, ©)0, ©)
1 00 2 59 72 3
+ 7 8 + 45 = 1
+4 6 9 +2 8 4 +1 4 7
6 4 7 58 8 8 8 1
g 397+9+63 h. 579+54+99 i. 104+23+564
©) @O ©)
397 579 1 0 4
+ 9 + 5 4 += 2 3
+ 6 3 + 99 +5 6 4
4 6 9 7 3 2 6 91
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a. ©IP) b. @ID) C. (o) @ d
4 2 8 X T o 6 9
- 18 -39 -2 1 -3 4
2 4 4 2 49 35
e O f @ g O, h. O,
2)) Q@ O © DWW
X o o ¥ T 2 75 & 90
-6 4 -1 9 4 -3 16 -1 8 7
36 1 7 8 3809 4 1 3
i e ke L@
D@ W ®e D © QW
& ¥ o >0 x 500 ¥ 4 0
-3 97 -4 19 -1 6 4 =il 7 3
413 4 8 2 336 1 67
a. 525-300 b. 703-475 c. 913-709
©),
O2]® @
525 Fox 9 ¢ &
-300 -4 75 -7 09
225 6 2 8 2 0 4
d. 840-761 e. 831-349 f. 415-213
@) @)
DO W D@
& 4 b & X x 415
-7 6 1 -3 4 9 -2 13
079 4 8 2 2 02
a. 3x7=21 b. 5x6=30 c. 8x4=32
d. 7x7=49 e. 3x9=27 f. 7x2=14
g. 16x1=16 h. 1x14=14 i. 4x0=04
jo Tx8=8x7 k. 5x4=4x5 . 10x8=8x10
a. 6x4=24 = 24+6=4 = 24+4=6
b. 3x2=6 = 6+3=2 = 6+2=
c. 8x5=40 = 40+8=5 = 40+5=8
d 2x7=14 = 14+-2=7 = 14+7=2
e. 9Ix6=54 = 54+9=6 = 54+6=9
f. 6x3=18 = 18+6=9 = 18+3=6
a. 45+9=5;9x5=45
b. 20+10=2;2x10=20
c. 32+8=4;8x4=32
a. 8:00 b. 4:00 c. 3:00
Number of meninavillage=437 ?C;) 7
Number of women in a village =378
Number of children=116 *3 78
Total population=437+378 + 116=931 +1 16
Thus, 931 population in village. 931
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28.

29.

30.

Number of students in a school =932
Number of boys =274
Number of girls =932 —-274=658

Thus; 658 girls in a schools.

Letx added to 376 make 500

Required number =x =500 —376
=124

Thus, if 124 added to 376 make it 500.

oxtl:&q@
o %O
oo-hN@

Sum of two numbers =753 OWmn
One number =265 ¥ E X
Then, second number =753 —265=488 -2 6 5
Thus, second numberis 488. 4 8 8
Number B
Exercise-2.1
a. -III-IE LA Th[ ] T]0]
2 3 2 SR
@ -III-IiI b Illﬂ ¢ Iil-ﬂ ol Th | [ T]0]
3| 9|2 0 2 4 0 O3 [ 2]
a. ¢ b ¢ c. ¢ d !
¢ | & ¢ ¢ & § ¢ § & § ¢ :
ThH TO ThH TOD ThH TUO ThH TOD
1707319 3495 6 9 3 4 8 00 0
Exercise 2.2
a. Fivethousand six hundred twenty four
b. Nine thousand sixty three
c. Sixthousand sixty five
d. Threethousand four hundred seventy three
a. 9816 b. 8000 c. 7687 d. 5555 e. 4999
Exercise 2.3
a. Tens | Ones b. Hundreds| Tens | Ones
17 1 7 137 1 3 7
23 2 3 250 2 5 0
14 1 4 309 3 0 9
37 3 7 642 6 4 2
56 5 6 971 9 7 1
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a. 7(1)3 5 =Period-Hundreds; Place value-100
b. 9 4 2(7)=Period-Ones ; Place value-7
c. 6 2(8)7 =Period-Tens; Place value-80
d. 2)6 9 8 =Period-Thousand; Place value-2000
a. 5 b. 2 c. 7 d 5
a. 5637 4216 3268
b. 4254 3578 6325
3000-300=2700
a. 5000+50=5050 b. 500+5=505
s
Exercise 2.4
a. 1832 b. 8092
a. 9480 9408 (v) 9084
b. 5607 5670(v) 5067
c. 700 70 7000 (v)
a. 7456 = 7 thousands + 4 hundreds + 5 tens + 6 ones
b. 2049 = 2 thousands + O hundreds + 4 tens + 9 ones
Exercise 2.5
a. 1972>972 b. 3582<3590 c. 9837<9838 d. 8018<8109
a. 4057 (X) 4852 8137 8173(v)
b. 1728 9381 (X) 8457 1235(X)
a. 3420<4000<4012<4388 b. 8<88<888<888Y
a. 5080>4852>4295>4172 b. 8173>8157>8137>3875
a. Thesuccessor of the greatest 4-digit number is 10000.

(The greatest 4-digit number =9999;
successor 09999 =9999 + 1 =10000)
b. The predecessor of the greatest 3-digit number is 998.
(The greatest 3-digit number =999; predecessor of 999 -1 =998)
c. Thesuccessor of the smallest 4-digit numberis 1001.
(The smallest 4-digit number=1000;
successor of 1000=1000+1=1001)
Predecessor of §929=8929—1=8928
Predecessor of 5080=5080—1=5079
Predecessor of 1000=1000—1=999
Successor of3009=3009+1=3010
Successorof 9810=9810+1=9811
Successor of 6999 =6999 + 1 =7000

Exercise 2.6

a. Making greatest 4-digit number by using 9, 8,5 and 7
We arrange digits in descending order=9>8>5>7
The greatest 4-digit number=9857
b. Making the smallest 4-digit number by using 8,0, 6 and 5.

We want smallest 4-digit number. Arranging the digits in ascending order
we have 0568.

Cop oo
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0568 is 3-digit number. Zero at the beginning of a number has no value.
Hence, zero will occupy 2nd place and next digit will occupy the first
place from the left.

Then, smallest 4-digit number is 5068.

Making the greatest 4-digit number by using 3,0, 1,9

We arrange digitin descending order 9>3>1>0

The greatest 4-digit number=9310

Making the smallest 4-digit by using 3,9, 5,6

We arrange digit in ascending using 3 <5<6<9

The smallest 4-digit number= 3569

2. 9036, 9063, 9360, 9603, 9630, 3069, 3096, 3609, 3690, 3906, 3960, 6039,
6093, 6309, 6390, 6903, 6930

3. Evennumbers=36, 548,90, 12,480, 14,386,504, 82,94,938,48
Oddnumbers =839, 65,637,473, 95,39, 15,61,231,27,59,93

Exercise 2.7

1.  Forward 1460 1465 1470 1475 1480
Backward 4562 4557 4552 4547 4542
2. Forward 2584 2594 2604 2614 2624
Backward 8723 8713 8703 8693 8683
3. Forward 8869 8969 9069 9169 9269
Backward 2126 2026 1926 1826 1726
4.  Forward 3429 4429 5429 6429 7429
Backward 5242 4242 3242 2242 1242
5. a. 3006+ 1000=4006 b.  3006—1000=2006
c. 3006+100=3106 d. 3006—-100=2906
6. a. 6232 6332 6432 6532 6632 6732
b. 5356 5358 5360 5362 5364 5365
7. a. Counting by three we get
4182+3=4185; 4185+3=4188
4188+3=4191; 4191+3=4194
b. Counting by 20 we get :
6141+20=6161; 6161+20=6181
6181+20=6201; 6201+20=6221
c. Countingby 100 we get :
4835+ 100=4935; 4935+ 100=5035
5035+100=5135; 5135+100=5235

Excercise 2.8

66 =Here, we see the digit at ones place.

The digit is 6 which is more than 5. (. 6>5)
66 isrounded offto 70.

44 =Here we see the digit at ones place.

This digitis 4 which is less than 5. (..4<5)
44 isrounded off to 40.

19 =Here we see the digit at ones place.

The digitis 9 which is more than 5. (:.9>5)
19 is rounded off'to 20.
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11=Here we see the digit at ones place. The digitis 1.

/o o

oo pPOoOoR

Whichislessthan 5. (.. 1<5)

11 isrounded offto 10.

127 =Here we see the digit at tens place. The digit is 2.

Which s less than 5 (:.2>5)

127 isrounded offto 100

351 =Here we see the digit at tens place. The digitis 5.

Whichisequalto 5 (5=%)

351 isrounded offto 400.

726 =Here we see the digit at tens place. The digitis 2.

Which is less than 2 (5>2)

726 1is rounded off'to 700.

856 =Here we see the digit at tens place. The digitis 5.

Whichis equalto 5 (5=9)

856 is rounded off'to 900.

979 =Here we see the digit hundreds place

The digitis 9 which is more than 9 (5<9)

979 isrounded off 1000.

1764 =Here we see the digit hundreds place

The digitis 7 which is more than 7 5<7

1764 is rounded off 2000.

8287=Here we see the digit hundreds place.

The digitis 2 which is less than 5 (2<9)

8287 isrounded off 8000.

5641 =Here we see the digit hundreds place.

The digit is 6 which is more than (6>5)

5641 is rounded off 6000.

8698 =Here we see the digit ones place.

The digit 8 which is more than 5 (8>5)

8698 isrounded off 8700.

2698 =Here we see the digit tens place.

The digit 9 which is more than 5 (9>5)

2698 is rounded off 2700.

8969 =Here we see the digit hundred place.

The digit 9 which is more than 5 (9>5)

8969 is rounded off 9000.

Attendance |Tonearest 1000 | Tonearest100 To nearest 10

5721 6000 5800 5720

6909 7000 7000 6900

8004 8000 8000 8000

8499 8000 8500 8500
Exercise 2.9

8 = Vi b. 1 = 1

25 = XXV d. 1000 = M

19 = XIX f. 100 = C

Vil = 7 b. XIV = 14

D = 500 d L = 50

XL = 43 f. X = 10
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3. a. X>XVII b. XVII=XVIII
c. XXXV>XIV d. XXI<XXVI
4. VI<VIII<XIX < XX <XXI<XXXIX
5. XLIV>XXXVI>XXX>XXXIX>XXV
6. a. 27+16=43 b. 30-20=10
XXVII+XVI=XLII XXX-XX=X
c. 49+10+8=67 d. 19+36+1=56
XLIX+X+VHI=LXVII XIX+XXXVI+I=LVI
7. a. XXV + VI = XXXII b. XLI - XXXIX = 2
25 + 7 = 32 41 - 39 =2
HOTS
a. VI+V=XI b. IX-IV=V c. XI-IX=II
Mental Gym
1. a. 306 307 308 309 310 311 312 313 314
b. 487 488 489 490 491 492 493 494 495
2. Evennumbers between517and 527 a. 519 521 523 525 527
Evennumbersbetween811and821 b. 8134 815 817 819 821
3. Odd number between 720 and 730 a. 722 724 726 728 730
Odd numberbetween990and 1000  b. 992 994 996 998 1000
4. a. 215 b. 331
5. a. 299 b. 149
Have a Fun
1. 999 2. yes
3. 10,000 4. Smallest number of 5 digit.
B 3 Addition and Subtraction|
Exercise 3.1
L mhroe ™ mETo mHT0 Y mHToO
4 6 3 8 2345 2 324 6 7 2 4
+2 3 6 1 +3 6 5 4 +1 2 3 5 +3 2 20
6 9 99 5999 35509 9 9 4 4
S THTO® TWHTO® THTO™ mHTO
6 4 35 2 3 45 4 59 2 214 6
+2 1 2 4 +2 4 4 4 +3 2 0 6 +6 3 3 3
8 559 47 89 779 8 8 479
L ThHTO ) TWHTOK THTO! ThHTO
4 8 5 6 561 2 6 0 5 8 3295
+2 1 3 2 +1 2 7 6 +3 9 4 1 +2 6 0 4
6 9 8 8 6 8 8 8 99 99 5899
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Exercise 3.2
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Exercise 3.3

Number of cows with first farmer=1767

6 8 6 6

1.

3745

Number of extra cows with another farmer

+3 7 45

Total number of cows =1767 +3745=5512

Thus, they have 5512 cows in total

5512

N
O«

2567

Number of mangoes in one garden

2.

3765

Number of mangoes in another garden

Total mangoes produced

+3 7 65

2567+3765=5512

6 3 32

Thus, 5512 mangoes were produce.
Number of boys in school =3675
Number of girls in school

Total children

O
Ov ~
O «

3.

=2785

3675+2785=6460

6 460

Thus, 6460 children in school.

Mathematics-3

10



10.

11.

12.

13.

Number of sheets in one bundle = 6275

Number of sheets in another bundle=3175

Total sheets on bundles=6275+3175=9450

Thus, 9450 sheets of paper were together.

Numbers of marblesinabox=3625

Numbers of marbles in another box =4567

Total marbles=3625+4567=8192

Thus, 8192 marbles in altogether.

Distance covered in one month= 1374 km

Distance covered in another month=2367 km

Total distance covered = (1374 +2367) m
=3741 km

Thus, it travel 3741 km altogether.

Number of soldiers in one army camp =4629

Number of soldiers in another army = 3295

Total soldiers=4629 +3295=7924

Thus, 7924 soldiers were there together.

Number of passengers one train= 1076

Number of passengers another train= 1925

Total passengers=1076+1925=3001

Sumof387,1095, 199 and 2455
387+1095+199+2455=4136

Number of people attended on Saturday = 6695
Number of people attended on Sunday =878

Total people attend on these two day =6695+878 +

=7573
Thus, 7573 people witnessed the match.
Number of people live in sectors A=3284
Number of people live in sectors B=2795
Number of people live in sectors C=2032

+
© W
-lk»—tl\J@
NI @)
S L W\

_|_
W N =
- v Wl
()
— 2 &

0
6

W o0 O

7

Total number of people live three sectors of colony

=3284+2795+2032=8111
Thus, 8111 people in three sectors of colony.
Mark obtained get in English=_89
Mark obtained get in Hindi=76
Mark obtained get in Science =94
Mark obtained get in Mathematics =95
Total marks obtained =89+ 76 +94+95 =354
Number of meninavillage=4350
Number of women in a village=5706
Number of children ina village=5620

mxoo\loo@

A~ 0 A OO

Total people inavillage=5706 +4350+5620=15676

Thus, 15676 people in a village.
11
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14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

Number of children in K.G. section =450
Number of children in primary section =850
Number of children in junior section = 1200

Total children in school =450+ 850+ 1200=2500 +

Thus, 2500 children in school.
Number of orange trees =525
Number of mango trees =557
Number of guava trees =790
Total number of trees =525+ 557 +790=1872
Thus, 1872 fruit trees in the orchard.
Number of bags of rice = 1450
Number of bags of wheat=495
Number of bags of pulses =950
Total bags of grains = 1450 +495 +950=2895
Thus, 2895 bags of grains are there.
Number of old books =2317
Number of new books = 1745
Total books =2317+1745=4062
Thus, 4062 books in school library.
Manan has stamps =2047
He collected more stamps = 1227
Now, total stamps =2047 + 1227
=3274
Number of rooms on ground floor=235
Number of rooms on first floor=137
Totalrooms =235+ 137=372
Thus, the hotel have 372 rooms.
Number of milk packets sold on Monday =275
Number of milk packets sold on Tuesday =234

Total number milk packets sold =275 +234 =509

Thus, 509 milk packed were sold
Numbers of bulbs produces in first day = 1259

Numbers of bulbs produces in second day = 5298

Numbers of bulbs produces in third day =897

Total bulbs produced in three day = 1259 + 5298 + 8§97

= 7454
Thus, 7454 bulbs produced in three days.
Amount in his bank account=3 6290
Deposit money bank account=<% 500

Now, her account balance =% (6290 + 500) =3 6790

Thus, Vandana has ¥ 6790 in his bank account.

Number of oranges boxes =2430

Number of apples boxes =7298

Number of bananas boxes =3598

Total boxes of fruits = 2430 + 7298 + 3598
=13326

Thus, 13326 boxes of fruit are there.

Mathematics-3 12

©]0;
4 50
8 50
1200
2500 @
5
5
+ 7
1 8
©]0)
1 450
4 95
+ 9 50
2895®
2 3
+1 7
40
©)
20 4 7
+1 2 2 7
32 7 4
2
+1
3
©)
2 75
+2 3 4
5009
©)O,
1 2
5 2
+ 8
7 4
6 290
+ 500
6 790
O@®
2 430
72 9 8
+3 59 8
1 3326

NRCETENS)

N O 9 W

N ®)
ST

\]ww@

N 3 WD

m\O\Ou:@

A 9 0 O



24.

25.

26.

27.

28.

29.

Number of electric bulb produced in one month =7228

Number of electric bulbs produced in second month =2039
Number of electric bulbs produced in third month =7122

Total bulbs produced =7228 +2039+7122=16389
Thus, 16389 bulbs produced in three months.
Number of Coca cola bottles=1207
Number of Pepsi bottles=2091
Number of Mirinda bottles =3528

Total bottles = 1207 + 2091 + 3528
= 6826
Thus, A shopkeeper has 6826 bottles.

Number of men in atown= 7529

Number of women in a town =4952

Number of children inatown=3509

AN W N~

Total population=7529+4952 +3509 = 15990
Thus, the population of the town is 15990.

Number of baby feeders produced on the first day =3927
Number of baby feeders produced on the second day =4000

o u o @
PO o o@®

AN 0 —

Number of baby feeders produced on the third day =4391

Total number of baby feeder produced = 3927 + 4000 + 4391

Number of trees planted in 1996=2719
Number oftrees planted in 1997 =3520
Number of trees planted in 1998 =1279
Total tree planted in three year=2719+3520+ 1279=7518

Thus, 7518 trees planted in three year.

Sweets sold on Monday =356
Sweets sold on Tuesday =409

Total sweets sold =356 +409 =765
Thus, 765 sweets sold on two days.
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Exercise 3.4

=12318
Thus, 121318 baby feeder produce in these day.

Th
8

4
4

Th
6

-2
4
Th
8

-7
1

N W e D9 O W N v

NN AR~ N WH W= B~

— N W W ke o b~ W auo

13

3.

7.

11.

Th
6

-3
3
Th
6

-2
4

Th
5

-1
4

NN A D W Lo N 9=

N b~ W

A AAH WA 94 N W oo—

O\OUI@

W O O

AW g0 W e Ao — A o

4.

8.

12.

—
oo uE
o © N o

0 = O

= B
N O LS I N N @ RV IR N )

LR LU wWWwo V@ o u o u

+

— N —~0 — oo

0 O O \©

Th
6

-2
4

Th
8

-5
3
Th
8

4
4

—_— W -
— QN N

— QN N N N o=

N A4 O W O
W W oo NN A oo

— &~ O

Mathematics-3



(=N
—cn
= <

=un

16.

oon
— <t
= = Ve

= 0

15.

oo
— <t
=

= o

14.

[==1Nee}
— <
=

=v©

13.

-2 312
3125
-1 2 3 4
8 4 4 4

20.

-2 322
6 2 21
-23 26
6 1 31

6 1 31
19.
5333

-2 41 2
-3 234

18.
—4223
124 4

-3 232
3311
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24,
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21.

2566
5112
-3 18 4
511 4
~54109
2450
1497
1101
2976
4858

28.
32.
36.

-2 3 3 4
6 21 2
-2 515
110 2
-1 6 2 3
5022
-1 21 2
3210
E xercise 3.5
-3 4 8 9
37 21

27.
31.
35.

-4 2 3 2
4335
-3 245
5430
-6 2 0 1
23 42
-2 12 4
3420
2 487

26.

-2 356
5331
-3 2 6 8
3310
-2 314
2 411
-3 071
6 014
6 20 4

25.
29.
33.

= ¥

-4 390

S Ok
—O®
=O® ¥

2338
-3899
0937

-1 9 8 7

2
-2 479
2 08 8

14

-39 6 9
1 860
-39 8 7
4 2 78

0706

1219
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Exercise 3.6

Number of circus goers = 1496

1.

Number of people who bought pop-corn= 1237

Number of people who did not buy
Pop-corn=1496—-1237=2509

0259

Thus, 259 people did not by pop-corn.

The greatest 3-digit number

=999

2.

1000

Thus, smallest 4-digit number

Difference

1000-999=1
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10.

11.

12.

13.

Number ofbottles carried by thevan=2700  Th H T 0

Number of bottles delivered = 1779
Bottled left=2700— 1779 OODW

todeliver=921 2T R
Thus, 921 bottle were left to deliver. -1779
Total distance on a journey =4378 km. 9 21
He travelled on ajourney = 3629 km

Journey left=4378 —3629 =749

Thus, 749 km journey left.

Total children in a school=5674 g) C;D
Number of boys =4936 49 3 6
Number of girls=5674—-4936="738 73 3

Thus, 738 girls in a school.

Number of seats in a cinema hall=1500

Number of person viewed a show on Sunday = 1278

Number of vacant seats=1500— 1278 =222

Thus, 222 seats were vacant.

Cost of stereo system =3 5389

Amount pay to shopkeeper=3 3500

Money left =3 (5389 — 3500)

=3 1889

Number of bananas bought=4874

Number of bananas distributed =3162

Number of bananas left=4874-3162=1712

Thus, 1712 bananas were left.

Total childrenin avillage=4325 0]0)

Number of children go t school =2518 i X
-2 5

1 8

Ol®
5
-3 5
18

0 O
O O O

Number of children do not go to school
=4325-2518
=1807
Thus, 1807 children do not go to school.
Number of workers in a factory = 1489
Number of men a factory = 1297
Number of women a factory=1489—1297=192
Thus, 192 women work in a factory.
Number of bananas with the fruit seller=256
Number of bananas sold=126
Number of bananas left=256—126=130
Thus, 130 bananas were left.
Difference between 2620 and 4745.

47 45
~2620
2125

©0]6,
2z 5
18
0 7

|
—_ = N
W N W
S N O

Letrequired number=x
x+5768=9850 -
x=9850 — 5768 =4082

SENEIO)
o %@
o oo o)

BN I\ -

Mathematics-3 16

®)
OISTIT)
4378

-3 6 29

|
—_ W

oo &G
SIESIE @)
o KB

© o %G

NSRS N

7

~N = o0

— O
NS (SR oN

49



14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

Number of pages in the Ramayan = 2500 Th & T0
Number o pages read by Divya= 1990 (19

Number of pages left =2500 — 1990 0%
_ 25 600
=510

Thus, 510 pages re left for reading. -1 z ? g

Anil's marks=175
Sunil's marks =172
Difference=175 — 172=3
Anil scored 3 more marks then Sunil.
Number of eggs =425 4
Number of sold eggs =125 1
Number of eggs left=425 — 125=300 3
Population of a village=9376
Number of females =4419
Number of males =9376 — 4419
=4957
Number of pages in abook =2540
Number of read by Varun =999
Number of pages left to read _
=2540 — 999 1
=1541
Number of marbles Manan has = 1765
Number of marbles given to Ashok =599
Number of marbles given to Rohan=486
Number of marbles left=1765 — (599 +486)
=1765 — 1085=680

S NN
S L

RO
Ln\oi\r®

IR Y&
— o o@®

-+
o-hm@
T @)
w o ©

Number of chairs to be polished = 1275

Number of polished chairs =486

Number of chairs remain to be polished = 1275 — 486
=789

Number or birds flew away =118 2
Number of birds remained in the a cage -1
=224 — 118=1006 1
Capacity of the box to hold apples =3200
Number of apples in the box=1350
Number of apples can be part more
=3200 — 1350
=1850
Number of passengers on the railway plate form =9468
Number of passengers unable to board = 2696
5
2
6

Number of birds in the cage =224 ®
2

1

0

oo X®

Number of passengers who boarded the train
=9468 — 2696 -
=6772

17

~N
W N W

OBOO
yx7E

-4 4109
4 957
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N©
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o »n &

= o NOO
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24.

25.

26.

27.

28.

29.

30.

Population of town in 1985 =7398

Population of the town in 1997 = 6324 —

Decrease in population = 7398 — 6324

=1074

Number of students in the examination = 9862

Number of boy students =6439

Number of girl students = 9862 — 6439

=3423

Amount eared by Rohan=% 5890 ©)

Amount spend by Rohan=3 3920 5
3
1

— N
S W W
~N N O
>~ B~

Balance Amount =3 (5890 — 3920) -
=% 1970
The greatest 4-digit number=9999
The greatest 3-digit number =999
Difference =9999—-999 =9000
Total number of pencils and erasers donated
=5500
Number of pencils donated =4500
Number of erasers donated =5500—-4500= 1000
Number of hens in the poultry form =4550
Number ofhens died =525
Number of hens left =4550 — 525
=4025

Number of toys produced = 7890

7
Number of toys packet in boxes =4298 —4
Number of unpacked toys=7890-4298=3592 3

Exercise 3.7
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Solve the following :
1.  3546+3451 530
=6997-5380=1617

3546 6
3451/5
6997 1

3. 5285+500 2000
=5785—-2000=3785

+

+
()] (9]
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o O o0
whn O W
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7249+ 100 6390
=7349- 6390=959
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7249 7 ¥
+ 10 63
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3418+5216 3747
=8634-3747=4887
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5.

11.

12.

6741+3000—-2543
=90741-2543=7198

SIS
el S|

I
o B~ b

%

=7215—- 6417+4162 8.
=7215+4162— 6417
=11377-6417=4960

y

6470+415-723 10.
=6885-723=6162
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Sum 0f2105 and 500

2105+500=2605
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Subtract 2605 from 6000
6000—-2605=3395

Difference of 5000 and 3000
5000-3000=2000

Add 2000 and 2000=2000+2000=4000

5000 2

3000/+2
2000 4

6.832+3170—-2987

=4002-2987=1015

©0]0 5)
Vs
/2
1

4210+ 1203240

=4330-3240
=1090

+
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3217+4619-500
=7836—-500=7336
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Excercise 3.8

Total number of stamp collector = 15000

Number of stamp of England =327

Number of stamp of Italy =387

Number of stamp of other countries =150
=150
=786

Thus, 786 stamps from other countries.

19

327 1500
+3 87 +714

714/ 786

0-327+387
0-714
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2. Number of green mangoes = 1450 1450 869

~J

Number of ripe mangoes = 7247 +7 2 4 7/ 4628
Number of mangoes sold =4628 8697 40609
Number of mangoes left = (1450 + 7247) — 4628 = 8697 — 4628 = 4069
Thus, 4069 mangoes were left. 1270 6050

3. Total number of apples with the shopkeeper=6050 13262 / 4532
Number of apples sold on first day = 1270
Number of apples sold on other day = 3262 4532 1518
Number of applesleft =6050—(1270+3262)=6050—-453=1518
1068 apples are left.

4. Sum of three numbers = 8500 2560 8500
Two numbers =2560, 3159 '3 15 9/5 219
Third number = 8500 — (2560 + 3159)

= 8500 — 5719 = 2781 5719 2781
Thus, Required numberis 2781

5. Total number of sweets =7000
Number of sweet d%stri.buted %n first class=2360 2360 7000
Number of sweet distributed in second class

3347 +3347/570
Number of sweet left = 7000 — (2360 +3347) > 1 07 1293
=7000 - 5707 = 1293
Thus, 1293 sweet left.

6. Total numbers of sheets of paper= 6000
Number of sheets used by Amit=3150
Number of sheets used by Anil =400 R R
Number of sheets left = 6000 — (3150 + 400) t 40 0/ 3550

= 6000 — 3550 = 2450 3550 2450

Thus, 2450 sheets were left.
7. Number of marbles in the box in the beginning = 8407
Number of marbles in the box after adding some marbles=9108 ~ 9 1 0 8

Total number of marbles added =9108 —8407=701 -8407
Thus, 701 are marbles added in all. 701
8.  Number of books in Subham's school library = 1468 more than Rajader's
school library. 5060

Number of books in Subham's school library = 5060

Number of books in Rajader's school library = 5060 — 1468 =3592 ~1 4 68

Thus, 3592 books in Rajander's school library. 3590
9.  Number of persons who attended the party=1010

Number of persons who had cold drinks =225

Number of persons had sweets = 147 225 1010
Number of persons had ice cream +147 - 372
=1010—(225+147)=1010-372=638 3 7 2 6338

Thus, 638 persons had ice cream at the party.

10. Number of bags of rice in godown = 8500
Number of bags removed on the first day =2745
Number of bags removed on the second day = 1419
Number of bags removed on the third day = 3090

Mathematics-3 20



2745
1419 8500

+ 3090 / - 7254
7254 1246
Number of bags leftin go down =8500—(2745+ 1419+3090)
=8500—-7254=1246
Thus, 1246 bags were left in go down.
11.  Number of televisions made in July =9864

Number of televisions made in August=2360
Number oftelevisions sold= 11002

9864 12224
+2360/— 11002
12224 1222

Number of televisions left = (9864 + 2360) — 11002
=12224 —-11002 = 1222
Thus, 1222 televisions are remain.

Mental Gym
1.b.2.c.3.b.4.a.
HOTS
1.  Lettherequired number be x 2. Lettherequired numberbex
Now, x—400=600 x—200="700
x=600+400=1000 x=700+200=900
Required number= 1000 Required number =900
3.  Lettherequired numberbex
x—20+30=200
x—50=200

x=200+50=250
Required number =250

Have A Fun

1. 816—487=329; 487+329=816 (a)

2. 615-348=267; 348+267=615 (b)

3. 925-643=282; 643+282=925  (d)

4. 673-243=430; 430+243=673  (g)

5. 534-385=149; 149+385=534  (h)

6. 391-235=156; 235+156=391  (c)

7. 7000+ 1800—4500=4300; 700+ 1800 = 8800, 4500 =4300, 4300 = 8800 (¢)
8. 4351+1230+4621=4351:4621=8972;

8972-1230=7742;7742+1230=8972 (f)

B 4 Multiplication|

Exercise 4.1

1. x 7 = 35 2. 2 x 7 = 14
3. x 8 = 56 4. 8 x 4 = 32
5. x 5 =20 6. 6 x 4 = 24
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11.

R W=

13.
15.
17.
19.
21.
23.
25.
27.
29.
31.

x 4 = 36
x 5 =15
x 4 = 20

42x 12 =12 %42
19x25=25 x 19
85x 0 =0x85
0x55=55 x0
93 x 86 =86 x 93

Exercise 4.2

10.

12

6 x 6
10 x ' §
8§ x 6

e,

10

36
50
48

73 x23x12=12x 23 x73
69 x 23 x24=24x69 x 23
483 x 49 =49 x 483
0x585= 585 x0

ey we

6075 x1=1x 6075

Exercise 1;‘3

Th|H|T |O Thf H T| O
6 %10 = 6 10| 2. [2x100 = 21 0] 0
2x1000 = 2(10[0]0] 4. | 14x10 = 11 4] 0
14 x100 = 1 14[0]0] 6. | 14x1000 = 41 0/0] 0
22x10 = 21210 8. [22x100 = 21 200] 0
22x1000 =[{ 212 (0|0 |0 |10. |45x10 = 4151 0
45 x100 = 415(0]012. | 45x1000 = 51000 0
I5x10 = 115(0]14. [49x100 = 41 9/0] 0
37x100 = 3(710(0(|16. |90x10 = 91 0| O
73 x100 = 713[0]0]18. |72x1000 = 21 010] 0
77x10 = 717107120 |71x100 = 71 11 0] 0
98 x1000 =1 9|8 [0]0]0]22. |31x1000 = 1] 0[0] O
132 x10 = 1132024, |165x10 = 11 6/5]0
23 x 100 = 2(310]0]26. |18x1000 = 81 0/ 0f O
4 %100 4101028 |7x10 = 71 0
165x100 = 1|6 [5]0]0]30. |29x100 21 910] 0
67x10 = 6[710]32. | 15x100 = 11 510]0
Exercise 4.
ThHTO 2. ThH T O 3. ThHTO .ThHTOD
O0O 0]0]0, @®O ©]0]0)

1 345 4 57 4 2370 1 543

X 2 x 3 X 6 X 4

26 90 13722 14220 6 1 7 2
ThHT 0 ThHT O 7 ThHTO ThHTO

@O0 OG0 OOO 0010
3691 917 2 8 543 72 73
x 7 x5 x 3 X 6
25837 4 5860 25629 4 36 38
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34344 10325 74187

33308

11800 4 9 4 8
Exercise 4.5

21870
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X 35
3625
+2 1750

x 2 3
6 325
+5500

x 43
73
+9840
10578

x 4 7
2415
+1 3800

8

25375

11825

16215
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—
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= =Nq\|

o
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oo
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5
4113
+2 2850

X 6 7
8 4 5
+1 4100

x 27
3304
+9440

45
3645

X
+2 9160

12744 6 345 26963

32805

29
1
1

7

5
1

8

5

7
1

5

1

+2 90

5

2
+5 70

0

1
+7 50

406

55
3
X

8

900

5
5
5

1 8

x 7

92
+1 2950

9 2

4 9
3528
+1 56 80

5
6

23
X 2
1410
+4 7 00

19208 13875

6 110

4175 h. 2457 L. 5679

g.

2 8
45432

X
+1 13580

55
12285

X
+1 22850

1
8350
+4 1750

135135 159012

50100
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13.

17.

21.

Exercise 4.6

ThHTOD 2 ThHTO 3. ThHTO 4 ThH TO
144 456 538 975
x 125 x 235 x326 x 234
720 2280 3228 3900
2880 13680 10760 29250
+14400 +91200 +1 61400 +1 95000
18000 107160 175388 228150
hHTO o ThHTO o ThHTO ¢ ThH TO
197 654 4 57 432
x 105 x 223 X256 x 2773
985 1962 2742 1296
0000 13080 22850 30240
+1 9700 +1 30800 +91400 + 86400
20685 145842 116992 117936
ThHTO 10. ThHTO 1. ThHTO 12 ThH TO
246 785 531 456
x115 x126 x 117 x 132
1230 4710 3717 912
2460 15700 5310 13680
+24600 +78500 +53100 +4 5600
28290 98910 62127 60192
ThHTO 14 ThHTO 15 ThHTO 16 ThH TO
719 234 345 248
x 125 x 161 x 176 x 129
3595 234 2070 2232
14380 14040 24150 4960
+71900 +23400 +34500 +2 4800
89875 37674 60720 31992
ThHTO 18. ThHTO 19. ThHTO 20. ThHTO
227 6 78 567 856
x126 x 155 x 121 x 127
1362 3390 567 5992
4540 33900 11340 17120
+22700 + 67800 +56700 + 85600
28602 105090 68607 108712
Ml Ml MHIT. TR
x212 X225 x217 X262
1572 2335 3976 1730
7860 9340 56 80 51900
+1 57200 + 93400 +1 13600 +1 73000
166632 105075 123256 226630

Mathematics-3
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25.

ThHTO ThHTO ThHTO ThHTO
89 7 26. 785 27. 6 78 28. 498
x 126 x 227 x 129 x 137
5382 5495 6102 3486
17940 15700 13560 14940
+ 89700 +1 57000 +67800 +49800
113022 178195 87462 68226
Exercise 4.7
Number of packets of candles = 125 125
Number of candles in each packet =24 x 2 4
Total candles= 125 x 24=3000 500
Thus, 3000 candles are 125 packets. £2500 -
Costofone shirt=3 225 3000 X 4 4
Number of shirts =44 900
Cost 0f 44 shirts =3 (225 x 44) =3 9900 +9 000
Thus, cost 0f 44 shirts are ¥ 9900. 375 9900
x 174
Costofone sheet=3 375 1500
Number of sheets =174 26250
Costof 174 sheets =% 375 x 174=3 65250 +37500
65250
ThHTO
147
. . x 163
Number of children in one class = 147 141
Number of children in 163 classes =147 x 163 =23961
Thus, 23961 children in 163 classes. BE 2
+14700
168 23961
X 52
Hoursinaweek=168 33 6
Hoursin 52 weeks=168 x 52=8736 hrs. +8400
Thus, 8736 hrs. are there in 52 weeks.
Number of rose plants =128 x 25
Number of flowers in each plant=25 6 40
Number of flowersn 128 plants =128 X 25=3200 +2 56 0
Thus, the ere are 3200 flowers in the garden. 256 3200
x 137
Costofachairs=3 256 T 1792
Number of chairs =137 680
Total cost of 137 chairs =3 256 x 137=3% 35072 125600
Thus, cost of 137 chairs are¥ 35072. 15072

25
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10.

11.

12.

13.

14.

15.

16.

17.

Number of eggs in one basket=12
Number of basket=11
Number ofeggsin 11 baskets=12x 11=132

Thus, 132 eggs are there 11 basket. +1

Number of bags =37

Number of marbles in each bag =23

Number of total marblesn 37 bags =37 x 23 =851
Thus, there are 851 marbles.

Number of days in a year=365
Number of hours in a day =24

Number of hours in a year (365 days) =365 x 24 1

=8760hrs T/
Thus, there are 8760 hours in a year. 8

Number of rows =42
Number of chairs can be but in each row =30

Number of chairs can be put in the hall=42 x 30 =12 60

Thus, 1260 chairs can be put in the hall.

Number of windows inaroom=12

Number ofrooms=15

Number of windows in school=12 x 15=180
There are 180 windows in the school.

Number of offices on each floor=15
Number of floors =45

Number of offices=15x45=675

There are 675 offices n the building.
Number of students =2598

Number of exercise books =15

Total number of exercise books =2598 x 15

=38970 *2
There 38970 exercise books were given in all. 3

Number of sweets given to each pupil =15
Number of pupil in the in the school = 1972

W N == =

~N W AR X W
(o) A=l | \S Bo))
S O Ok~ W

0 N O\ |— =
S O S| N

2598
x 15

NSRS L \S)

4
0 3 — X
[T SN [ (S OS]

NN X
AN N O |W b~

4L
A DX
N W N =

=)}

2990
5680
8970

Number of sweet given away in the school=1972 x 15=29580

Number of compartments =17

Number of seats each compartments =72 R

Total number of seats = 17 x 72
=1224 +1 1

Costofascooter=3 8169
Number of scooters =8
Costof 8 scooters =3 8169 x 8
=365352 6
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18.

19.

20.

21.

22,

23.

24.

25.

26.

27.

Number of lines in each pages =29

Number of pages in the book =54

Number of lines in the book =29 x 54 =1566

Thus there are 1566 lines in the book.

Number of sections in a school =18
Number of students in each section=153

X
Total number of students in the school = 18 x 53 4

Thus, there are 954 students in the schools.

Number of peoples =244

Money paid by each person to enter=% 130
Money collected at the entrance =3 130 x 244=3 31720
Thus, 3 31720 was collected at the entrance.

Numbers of balloons in a packet=250

Number of packet=115

Number of total balloons = 250 x 115

=28750

Number of rows in a stadium=112
Number of chairs ineachrow =117
Number of total chairs in the stadium = 112 x 117

Thus, there are 13104 chairs in the stadium.

Number of fire crackers in a box contains = 124
Number of fire cracker boxes =112
Total number of fire cracker=124 x 112

=13888

Thus, 13888 fire cracker in 112 boxes. There are

Number of buses =75

Number of students carried by each bus =78
Total number of students come to school by the school buses

=75x78=5850
Thus, 5850 students come to school by the school buses.

Number of rows of trees =19
Number of trees in eachrow =3

Total number of tees in the garden= 19 x 3 =57

There are 57 trees in the garden.
Number of seats in each bus =70
Number ofbuses=16

Number of seatsin 16 buses=70x 16=1120

Thus, 1120 seats in 16 buses.
Number of packets =8

Number of candles in each packet =300
Number of total candles =300 x 8 =2400

She buy 2400 candies.

27

29
x5 4
116
+1450
53 1566
18
2 4
=954 4530 130
95 4 X 244
520
5200
+26000
31720
250
x115
1250
2500
+25000 112
28750 x 117
78 4
1120
=13104 +11200
13104
124
x 112
248
1240
+12400
13888
75
x 7 8
6 00
+3250
G 5850
x 3
57
70
x 16
420
+7 0 0
420
300
x 8
2400
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28.  Numberofbagsinatrucks =79 79
Number of trucks =90 x 9 0
Number of bags carried truck =79 x 90 00
=7110 +7 110
Thus, 90 trucks carried 7110 bags. 110
29. Number of beads ina chain=40 3 8
Number of chains to be made =38 x 4 0
Total number of beads required = 38 x 40 00 1 520
=1520 L1520 / x5
Costofonebead=% 5 1520 760 0
Costof 1520 beads= 1520 x 5= 7600
Thus, Richa will need ¥ 7600
30. Number of rows of chairs =135 135
Number of chairs in eachrow =31 x3 1
Number of chairs =135 x31=4185 135
Thus, there are 4185 chairs in the auditorium. +4 050
31. Money earned by the man one day =% 50 4185
Number working day =100
Total money earned by the man in 100 days =3 50 x 100=3 5000
There man will earn< 5000 in 100 days 750
32. Manan's per month salary =% 750 <12
Manan's annual salary =% 750 x 12= 9000 @~ ——— 900 0
Manan's two year salary =3 9000 x 2 =% 18000 oot
Thus, Manan's earn¥ 18000 in two years. +7500 x 2
90007 18000
Mental Gym
1. a. 53ones =Stensand3ones b. 65 tens=6hundredsand5 tens
c. 28tens=2hundredsand8tens d. 72ones=7tensand2 ones
2. a. 0x10=0 b. 1x1=1 c. 10x1=10
d. 10x0=0 e. 25x1=25 f. 63x0=0
HOTS
a 11 b. 5 c. 1 2
x5 x 0 x 5
55 0 6 0
Have a Fun
1.b 2.e 3.f 4.c 5.a 6.b
B Division
Exercise 5.1
1. 3-1<3] 5+1=[5] 3. 7+1=[7]
4. 2+241] 6+6=[1] 6. 0+10=[0]
7. 0+4=0] 8+8=[1] 0+8=[0]
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10.
13.

4+ 4=[1] 1. 6+1= 12. 5+5=[1]
68+1=|68 14. 28+28=[1] 15. 9+9=[1]
Exercise 5.2

64+8 =8

OOOEOO®®

1 2 3 4 5 6 71 8

30+6=5

0]0]6]0]0

1 2 3 4 5

1000 + 100=10

(109 G09) G09) (09 (109 (109 G09) (09 o) (o)

1 2 3 4 5 6 7 8 9 10
1400 = 100=14

(109 G09) o9) Go9) 19 (109 Go9) o) o) o) Go9) Go9) 09) (9
1 2 3 4 5 6 7 8 9 10 11 12 13 14
144+12=12

GlOI00CICIOCIOIOO0),
1 2 3 4 5 6 7 8 9 10 11 12

36+6=6

©WOOOOE

12 3 4 5 6

110+11=10

OWOOOWWEHOWEWWW®

1 2 3 4 5 6 7 8 9 10

Exercise 5.3

4x2=8 b. 2x3=6 c. 9x3=27
2x4=8 e. 3x2=6 f. 8x9=72
4x3=12 h. 3x4=12 i 9x5=45

The division factsare40+5=8,40+8=5
The division factsare 48 +6=8,48 +8=6
The division facts are 54 +~9=6,54+6=9
The division factsare 63+9=7;63+7=9
The division factsare 56 ~+7=8,56 +8=7
The division factsare 50+10=5,50+5=10
The division factsare 30 +~6=5,30+5=6
The division facts are 80 +~8=10,80+10=8
The division factsare 90+10=9,90+-9=10
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1. 3275+2

Quotient=1637;
Remainder=1
4. 4239+4
1059
4) 4239
—4
23
- 20
39
—36
3

Quotient=1059;
Remainder=3
7.  4589-+8

Quotient=1573;
Remainder=5
10. 7443
238

3) 744
14
=12

24

—24

0

Quotient=238;
Remainder=0

Mathematics-3

(o)}

Exercise 5.4

2.

5.

11.

Quotient="779;
Remainder=4

4678 +6 3. 3478+7
779 496
6) 4678 7) 3478
—42 —28
47 67
—42 - 63
58 43
oA —42
4 1

Quotient=496;
Remainder=1

6721+3 6. 9275+9
2240 1030
3) 6721 9) 9275
-6 =9
7 27
—_6 =27
12 5
=12 -0
1 5
-0

Quotient=1030;
Remainder=5

Quotient=2240;
Remainder=3

3421+5 9. 633+3
684 211
5) 3421 3) 633
30 -6
42 30
—40 —30
21 3
—20 =3
1 0

Quotient=211;
Remainder=0

Quotient=684;
Remainder=1

749+3 12. 934+5
239 186
3) 749 5) 934

-6 =3

14 43

=12 —40
29 34
=27 —30
2 4

Quotient=186;

Quotient=239;
Remainder=4

Remainder=2

30



13.

16.

19.

21.

22,

23.

1861+5

372
5)1861
—15

36

—35
11
— 10
1

Quotient=372;
Remainder=1

14. 14822

741
2)1482
—14

8
-8

NS \S)

0

Quotient="741;
Remainder=0

15. 1872+7

267
7)1872
14
49
—42
52
49
3

Quotient=267,
Remainder=3

422+2 17. 525+5 18. 868+2
211 105 434
2) 422 5) 525 2) 868
-4 -5 -8
2 25 6
=2 =25 -6
2 0 8
) -8
0 0

Quotient=211;
Remainder=0

Quotient=105;
Remainder=0

Quotient=434;
Remainder=0

27633 20. 2565+5
921 513
3) 2763 5)2565
=27 =25
6 6
-6 =3
3 15
-3 —15
0

Quotient=921;
Remainder=0

Quotient=513;
Remainder=0

Number of children=6 3
Number of mangoes =20 & 20
Number of mangoes each child will get=20+6 _l_g

Quotient=3, Remainder=2
Thus, each child will get 3 mangoes each and 2 mangoes will be left over.
Number of note books =26

. 5
Number of subjects =5 5) 26
Number of notebook for each subject=25+5 _ 25

Quotient=>5, Remainder=1 1
There are 5 note book and for each subject 1 is left over.
Number of children=38

Number of children in each group =4 9
Number of groups=38+4 /‘4 38
9 groups can be formed from 38 children %

2 children will be left over. —
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10.

Quotient=533;
Remainder=9
643+12
53
12) 643
— 60

42
—42
1

Quotient=53;
Remainder=1
3635+14

Quotient=259;
Remainder=9
930+15

Quotient=62;
Remainder=0

Mathematics-3

Exercise 5.5

2. 8346-+18
463
18)8346
=72

114

— 108
66
54
12

Quotient=463;
Remainder=12
5. 6581+41
160
4 1) 6581
— 4]
248
— 246
20
-0
20

Quotient=160;
Remainder=20
8. 6338+17

Quotient=372;
Remainder=14
11. 1792+16

112

16) 1792
—16
19

- 16

32

=32

0

Quotient=1120;
Remainder=0

32

12.

Quotient=374;
Remainder=11
3979+2

1989

2) 3979

19
—18
17
—16
19
—18
1

Quotient=1989;
Remainder=1
63612

Quotient=153;
Remainder=0
7024 +18

390
18)7024
—54
162
- 162

4
0

4

Quotient=390;
Remainder=0




13.

16.

17.

18.

19.

20.

3626+ 14 14. 8816+19

259 464

14) 3626 19) 8816
—28 —76
82 121
—70 —114

126 76

=126 __ 76

0 0

Quotient=259;
Remainder=0
8298 +18
461
18) 8298
—72
109
— 108
18

% Quotient=461:

Remainder=0

Total number of apples =360
Number of apples each bag can hold =18
Bags canbe filled =360+ 18
=20
Thus, 20 bags can be filled.

Number ofice-cream cups =225
Number of boxes=15

Quotient=464;
Remainder=0

Number of ice-cream cups each box can hold= 225 + 15

Thus, each box can hold 15 ice-cream cups.

Number of children =392
Number of children in each mini bus =28
Required mini buses = 392 + 28

=14
Thus, 14 mini buses are needed to carry 392
children.

Number of candles =348

Number of rows =12

Number of candles in eachrow =348+~ 12=29
Thus, 29 candles can be arranged in each row.

33

15. 6331+13
487
1576331
—52
113
- 104
91
—-91
0
Quotient=487,
Remainder=0
20
187360
—36
0
-0
0
15
15) 225
—15
75
—75
0
14
28) 392
— 28
112
— 112
0
29
127348
—24
108
-108
0
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Exercise 5.6

a. 256+10 b. 88+10
25 8
10) 256 10) 88
—20 —80
56 8
=50
6
Quotient=25; Quotient=28§;
Remainder=6 Remainder=238
d. 705+10 e. 18+10
700 1
10) 705 10) 18
=70 —10
5 8
-0
5
Quotient="700; Quotient=1;
Remainder=5 Remainder=238
g 65+10 h. 451+10
6 45
10) 65 10) 451
—60 —40
5 51
—50
1
Quotient=06; Quotient=45;
Remainder=5 Remainder=1
a. 40+10=4 b. 400+10=
c. 555+10=55, R=5 d. 227+10=
e. 475+10=47, R=5 f. 420+-10=
g. 105+10=10, R=5 h. 205+10=
Exercise 5.7
120+15 2. 64+8
8 8
15)120 8) 64
— 120 —64
0 0
Quotient=28 Quotient=28
4. 81+9 5. 55+5
9 11
9) 81 5) 55
=81 —55
0 0
Quotient=9 Quotient=11
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Quotient=14;
Remainder="7
f. 73+10
7
10) 73
=70_
3

Quotient=7;
Remainder=3

40
2, R=7
42, R=0
20, R=5
3. 72-+8
9
8) 72
=72
0
Quotient=9
6. 180+12
15
12)180
— 180
0

Quotient=15



10.

13.

16.

19.

64+4
16
4) 64
—64
0
Quotient=16
25+5
5
5) 25
—25
0
Quotient=5

14)112
8
14)112

—112
0

Quotient=238

10)110

Quotient=11

15)135

0 Quotient=9

5N

[
—_— N
N W |oo

‘

Quotient=28;
Remainder=1

9)654

72

9)65

~ 64

6

Quotient="72;
Remainder=6

0 B~

11.

17.

20.

72+9
8
9) 72
=72
0
Quotient=28

14)140
10

14)140
— 140
0

Quotient=10

16)144
9

16)144
~ 144
0

Quotient=9

13)117

0 Quotient=12

Exercise 5.8

2.

5.

3)532

177
532
=33

-

—

Quotient=177
Remainder=1

5)752

5

Din

750
2

~ [—
[\O (e}

~
(=]

Quotient=150
Remainder=2

35

12.

15.

18.

6.

63+9
7
9) 63
—63
0

Quotient="7

13)130
10
13)130

—130
0

Quotient=10

9)144
16
9) 144
— 144
0

Quotient=16

10100
10
10)100
~ 100

Quotient=10

Quotient=95;
Remainder=3

4)522

13

4)52

—52
2
Quotient=130;
Remainder=2

Mathematics-3
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Quotient=136;
Remainder=1

Quotient=105;
Remainder=1
13. 638+3
212
638
—63

W
N‘O‘\

Quotient=212;
Remainder=2
16. 215+4
53
21
-21

o~
w‘l\) ()

Quotient=53;
Remainder=2
19. 621+5
124
5) 621
- 620
1

Quotient=124;
Remainder=1
22. 125+4

4) 125
—120
5

Quotient=30;
Remainder=>5
25. 205+3
68
3) 205
—204
1

Quotient=068;
Remainder=1

Mathematics-3

11.

14.

17.

20.

23.

26.

Quotient=115;
Remainder=5
902+8

Quotient=112;
Remainder=6
721+8
90
721
=72

o0
'—“O

Quotient=90;
Remainder=1
719+9
79
71
=71

\O
— O

m‘

Quotient="79;
Remainder=28
718+8
89
8) 718
—712
6

Quotient=_89;
Remainder=1
918+4
229
4) 918
—916

\9)

Quotient=229;
Remainder=2
681+7
97
7) 681
679
1

Quotient=97,
Remainder=2

36

12.

15.

18.

21.

24.

27.

Quotient=1219;
Remainder=6

2432

Quotient=121;
Remainder=1
4916

6

49
-486
5
Quotient=81;
Remainder=5
485+3
161
485

(o]
O\ = |-

IUJ
‘-lk
oo
[\ (08}

Quotient=161
Remainder=2

345+6

6) 345
—342
3

Quotient=57;
Remainder=3
321+4
80
4)321
—320
1

Quotient=_80;
Remainder=1
337+4
84
4) 337
—336
1

Quotient=_84;
Remainder=1




91 85 73
7) 641 5) 428 8) 585
— 637 —425 —584
4 3 1
Quotient=91; Quotient=_85; Quotient="73;
Remainder=1 Remainder=3 Remainder=1
’
Exercise 5.9
1. 2891+3 2. 456=+2
963 728
3)2891 2)1456
-27 — 14
19 5
—18 -4
11 16
-9 —16
2 0
Quotient=963; Remainder=2 Quotient="728; Remainder =0
Check : Dividend = Quotient X Check : Dividend = Quotient X
Divisor + Remainder Divisor + Remainder
2891=963 x3+2 1456 =728 x2+0
=2889+2=2891 =1456+0=1456
3. 1938+9 4. 1862+4
215 465
9)1938 4)1862
—18 —16
13 26
-9 —24
48 22
45 —20
3 2
Quotient=215; Remainder=3 Quotient=465; Remainder=2
Check : Dividend = Quotient x Check : Dividend = Quotient x
Divisor + Remainder Divisor + Remainder
1938=215%x9+3 1862=465%x4+2
=1935+3=1938 =1860+2=1862
5. 1562+3 6. 1821+8
520 227
3)1562 8)1821
— 15 —16
6 22
-6 —16
02 41
— 10 —56
2 5
Quotient=>520; Remainder=2 Quotient=227; Remainder=>5
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Check : Dividend = Quotient x
Divisor + Remainder
1562=520%x3+2
=1560+2=1562
7. 3891+4

Quotient=972; Remainder=3
Check : Dividend = Quotient X
Divisor + Remainder
3891=972x4+3
=3888+3=3891
9. 1837x%3

Quotient=612; Remainder=1
Check : Dividend = Quotient x
Divisor + Remainder
1837=612x3+1
=1836+1=1837
11. 1862+8

232
8) 1862

Quotient=232; Remainder=6
Check : Dividend = Quotient x
Divisor + Remainder
1862=232%x8+6
=1856+6=1862

Mathematics-3 38

Check : Dividend = Quotient x
Divisor + Remainder
1821 =227%x8+5
=1816+5=1821
8. 1457+2

728

21457

—14

Quotient="728; Remainder=1
Check : Dividend = Quotient X
Divisor + Remainder
1457 =728 x2+1
=1456+1=1457
10. 1495+5

Quotient=299; Remainder=0
Check : Dividend = Quotient x
Divisor + Remainder
1495=299x5+0
=1495
12. 1939-+9

215
9)1939

Quotient=215; Remainder=4
Check : Dividend = Quotient x
Divisor + Remainder
1939=215%x9+4
=1935+4=1939



13.

15.

17.

19.

1562+3 520
3)1562
—15

Quotient=520; Remainder=2
Check : Dividend = Quotient x
Divisor + Remainder
1562=520%x3+2
=1560+2=1562

2891+7 413

7) 2891

—28

Quotient=413; Remainder=0
Check : Dividend = Quotient x
Divisor + Remainder
2891=413x7+0
=2891
1235+2 617
2) 1235
—12

3

=2
15
—14
1

Quotient=617; Remainder=1
Check : Dividend = Quotient x
Divisor + Remainder
1235=617%x2+1
=1234+1=1235

1531+4 382

Quotient=382; Remainder=3

39

14. 1821+4 455

Quotient=455; Remainder= 1
Check : Dividend = Quotient x
Divisor + Remainder
1821=455%x4+1
=1820+1=1821
16. 4816+5 963
5)4816

Quotient=963; Remainder=1
Check : Dividend = Quotient x
Divisor + Remainder
4816=963x5+1
=4815+1=4816
18. 1921+3 640
3)1921

Quotient=640; Remainder=1
Check : Dividend = Quotient x
Divisor + Remainder
1921=640%x3+1
=1920+1=1921

20. 2506+5 501
5)2506
—25
006
=3
1

Quotient=501; Remainder=1
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Check : Dividend = Quotient x
Divisor + Remainder
1531=382%x4+3
=1528+3=1531
21. 3505+6
584
6) 3505
-30
50
—48
25
—24
1

Quotient=1584; Remainder=1
Check : Dividend = Quotient x
Divisor + Remainder
3505=584%x6+1
=3504+1=3505
23. 6581+9
731
6581

| k’i‘
AN
(98]

28

=27
11
=9
2

Quotient=731; Remainder=2
Check : Dividend = Quotient x
Divisor + Remainder
6581=731%x9+2
=6579+2=6581

22.

24.

Check : Dividend = Quotient x
Divisor + Remainder
2506=501x5+1
=2505+1=2506
5051+7
721
7) 5051
-49
15
— 14
11
-7
4

Quotient=721; Remainder=4
Check : Dividend = Quotient x
Divisor + Remainder
5051=721x7+4
=504
9281+38

Quotient=1160; Remainder=1
Check : Dividend = Quotient x
Divisor + Remainder
9281=1160x8+1
=09280+1=9281

Excrcise 5.10

1. Number of students = 640

Number of students can siton abench=15
Number of benches needed 640 +5=128

Thus, 128 bench are needed for 640 students.

2. Number of families =7
Number of ice-creams =98

Number of ice-creams for each family =98 +7
=14

Thus, each family will get 14 ice-creams.
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128
5) 640
_5
14
~10
40
—40 14
_0 7) 98
7
28
~28
0



10.

11.

12.

13.

Number of birds inzoo=2100

Number of cages =70

Number of birds in each cage=2100+70=30
Thus, 30 birds are in each cage.

Number of children =2865
Number of children in each group=15
Number of group=2865+15=191

Quantity of rice= 160 kg

Quantity of rice each bag can hold=4 kg
Number of bags needed =160+4=40
Thus, there are 40 bags.

Cost of someice-crams =3 1050
Costofeachice-cream=3 5

Number ofice-cream=3 1050 +5=210
Thus, there are 210 ice-creams.

Number of biscuits =36

Number of biscuits in one packet=9
Number of packets=36+9=4

Thus, 4 packets will have 36 biscuits.
Number of people in the train =480
Number of compartments =12

Number of people in each compartment = 480 + 12

=40
Costof 2 suits=3 5500

Costof 1 suit=35500+2=32750

Thus, Cost of one suit was 3 2750.

Total money to be shared =% 2400
Number of people =60

Money reserved by each person =3 2400+ 60=3 40

Number of total books =4530
Number of books placed on a shelf=15
Number of shelfneed =4530~+ 15=302

Thus, 302 shelves needed to placed on 4530 books.

Number of chalks =252

Number of boxes=9

Number of chalks in eachbox=252+9=28
Thus, there are 28 chalks in each box.

Number oftoys =160

Number of girls =8
Number of toys get each girl =160 +20

41

30
70)2100
21 191
_ 00 15)2865
15
136
~135
15
~15
_ 0
4
9) 36
~ 36
_0
2750
2)5500
4
15
_14
10
~10
0 40
——  60)2400
~ 2400
_ 0
302
15)4530
~ 45
30
30
0
28
9) 252
~ 18
72
7
0
20
8) 160
~ 160
0
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14. Number oftoffees =210 42
Number of toffees for each classmate =5 5) 210
Number of classmate =210+ 5=42 -20
Thus, there are 42 students 10 181
—10 5) 905
15. Total passengers =905 L _2—0
Number of aeroplanss =5 _ 40
Number of passengers carries each acroplan=905+5=181 — 5
Thus, one aeroplane carry 181 passengers -5
_0
16. Number of sheets = 3500
Number of bundles =7
Number of sheets pocketed in 1 bundle=3500+7=500
Thus, 500 paper will be in each bundle.
17. Number of penciles =382
Number of pencil in each set= 10
Number of sets can be made =382 + 10 =38 and 2 extra pencils
Thus, 38 sets will be made and 2 pencils will be left over.
18
18. Costof 8 cinematickets =3 144 8) 144
Costof 1 cinema tickets=3 144 +8=% 18 -8
Thus, cost of 1 cinemas ticketis3 18. 23
19. Number of slices of bread in one packet=8 60 0
Number of slices of bread =480 8) 480
Number of packets to hold all slices =480 + 8 =60 —48
Thus, 60 packets are needed to hold 480 slices of bread. _ 0
Mental Gym
1. a. 28 4 7 b. 54 6 9 c. 30 3 10
7 x 4 =128 6 9 = 54 3 x 10 = 30
4 x 7 =28 9 x 6 = 54 10 x 3 =30
28 + 4 =7 54 + 6 = 9 30 - 3 =10
28 + 7 = 4 54 - 9= 06 30 + 10 3
2. a. 16 - 16 = 0 b. 16 0 =0
c. 100 + 1 = 101 d. 68 1 = 68
e. 45 — 5 = 40 f. 9 x 4 = 36
g 0 + 29 =0 h. 108 = 108 = 1
i 52 + 8 = 60 jo 300 — 1 = 299
HOTS
Ans.  Number children at the of range =36

Number of bananas to be given to each child =2
Total number of bananas required 36 x 2=72
Now, Number of bananas in one dozen=12
Total dozen of bananas required=72+12=6
Thus, we should 6 dozen of bananas
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1

28

37

46

55

64

73

82

43

R 3 4 5 6 7 3 9
48 10 7 7 24 4 6 | 10 6
11 12 13 14 15 16 17 18
6 0 0 63 6 | 64 8 8| 9
20 21 2 23 24 25 26 27
8 0 0 3 4 |42 6 7| 8
29 30 31 32 33 34 35 36
90 10 9 21 7 3| [s6 8 7]
38 39 40 4w 43 44 45
9 2 0 7 28 |35 5 7| 2
| 47 48 49 50 51 2 53 54
10 5 2 3 7 24 54 3 18
56 57 58 59 60 61 62 63| |
2 1 2 | 16 4 4 9 2 18
65 66 67 68 69 70 71 72
5 1 5 | 8 48 8 | 6 6 1
74 75 76 77 78 79 30 81
5 6 3 2 | 10 10 1 | 3 18
83 84 85 86 87 38 89 90
1 2 9 4 3 100 4 2| 2
]
Exercise 6.
1 2 —»Numerator b 3 —»Numerator 4 —»Numerator
) ?—PDenominator ’ T—VDenominator ?—PDenominator
d i —»Numerator ﬁ —»Numerator f i—bNumerator
" 6—»Denominator 1 1—»Denominator " 13—»Denominator
l—bNumerator h i —»Numerator
& 1 5»Denominator " 12— Denominator
3 2 5 3
2. T b. ? C. ? d. 7
2 7 9 11
= f. — . = h. —
3 9 & 16 15
’
EXxercise 0.2
3 _ 1 _ 2 _
1. . Z—3partsout0f8 b. ?—lpartoutofﬁ c. 7—2partsout0f7
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=2 partout of 9. e. l—ZpaI’tsoutof7

12
=2 partoutof9.

Exercise 6.3

1. 2. g; 3.@ 4.

) . <4 B>
| [=>=
1=
][>
1=

39 Rp

Exercise 0.4

1 1 1 1 1 1 1 1 1

1. a > < b. 5 > - C > 5 d. 5 > B % & > 3
2 3 2 3 1 3 7 5
2. ¢ 5 < x d. 5 < © e I < 7 f. 5 > 5
2 3 3 5 . 3 2 3_3
& <7 hogsx b o573 b 5=%

Excercise 6.5

OD @@9 DD
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Exercise 6.6

_1<l<_3<_8 b. i<i<i<l i<i<l<m
55 5 5 8§ 8 8 3 9 9.9 9
£)>_9>_5>_1 b. _5>i>i>i C. 2 ﬁ _2>_1
26~ 26 26 26 6 6 6 6 2 12 12 12
5x4_205x5_255%x6_30 , 5x4_205x5_255x6_30
Ox4 369x5 459x6 54  6x4 2486x5 306x6 36
2x4_ 8 2x5_102x6_12 4 2x4_82x5_102x6_12
3x4 123x5 153%x6 18 =~ 5x4 205x5 255x6 30
Ix4_ 4 1x5_5 1x6_6 5 7Tx4_287x5_357x6_42
2x4 8 2x5 102%x6 12 =~ 12x4 4812x5 6012%6 72
Ix4_ 4 1x5_5 1x6_6 1, 6x4_246x5_306x6_36
5x4 205x5 255%x6 30 = Tx4 287x5 357x6 42
6 _12 1_6 2_14 4_8
12 24 b 772 “ 97718 d =70
1:27 f i:£ 47:176 h 1279

3 © 48 & 3720 S Y|
25 5.3 7.2, 7_49

45 ) 6 36 5 15 "8 56
_48 . 2_86 o S _064 6 _12

56 "5 215 9 M P 15730
24 312 4_16 9 _27

) Y © 12 48 © 14 a2

’
Exercise 6.7

1+1_2 b 4F2_6

3 3 71010
5 7 4 9
9 21 11 8
ﬁ f. ﬁ g. ﬁ h. ?

’
EXxercise 0.8

2-1_1 4-2_2 1 9-4_5

3 3 b T3 “ 12
2 =l 4 5| 51
7 b. 35 C. T d. <0 e. 5
4 Bl 5 4 .23
30 ST LT > | I 100

45
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Exercise 0.9

v
\S}
+

1 ¢ I T I I I _3
o0 1 2 3 4 s 55
5 5 5 5 5 5
m
[ ¢ I T | - 1+2_3
b o 1 2 3 3 zorl
3 3 3 3
) g/////”9;‘\\\\\\*//19\\\ﬂ R 241 3
0 1 2 3 4 44
4 4 4 4 4

o
v
)
o\ +
(98]
i

SN e
oNw—

oo ¢
o1
o\
o1

o~

)
o
W

W |
)
Il

uJuo

¢ T | T T ]
0 1 2 3 4 S
5 5 5 5 5 5
b 3-1-2 m I
4 4 0 1 2 3 4
4 4 4 4 4
2-1_ 1 /-).%{ I
¢ 373 0 1 2 3
3 3 3 3
d 8—6_2
10 10 0 1 2 3 4 5 6 7 8 9 10
10 10 10 10 10 10 10 10 10 10 10
Exercise 6.10
1. Distance covered in first minute = % m
Distance covered in second minute = % m
Total distance covered = A -i-i —7+5_12 ori

16 16 16 16 4
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Quantity of milk = % /

Quantity of consumed milk = 13_6 /

Quantity of remaining milk= b 3_15-3_12 ori

616 16 162
Thus,%lmilkisleft.

Money spent on sweets = g part

Money spent on fruits =Lpart

9
S S S S0
Total n;oney spent= 5ty 5 5
Thus, -5-part of money was spent
Sitahad apple= %

Sita ate apple :lil

Appleleftwithher=——-—=——=—

Thus, 1—61 apple were left.

Book Reena reads in the morning = % part
Book Reenareads in the evening = % part

_S5 . 1_5+41_6 3
Total book read = < +?— g g7 part

Thus Reenaread —Z part of the book.

Distance covered in 1 hrs. by Rani= % km

Distance covered in 1 hrs by Anuj = % km

By comparing both, we gets % > %
i _5 3.5-3.2,1
Difference = T ] g g T g

Thus, Rani ran 1 more than, Anuj.

4
Height covered by Manan= % of'the trees
. . 3 1
Heightlefttoclimb=1-—==—-
eightleftto climb R

Thus, i— partofthe tree is left to climb.
Property of daughter = %

Property of son= %
Compare= S53
Difference=>-— 5 =3=3-2 5. 1

8 8 8 8§ 4

Aman gave % more property to daughter then san
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9. Let the number to be subtracted be x
10 _3
[T
3_10
4+ 2 =Y
of 1T 11
_10_3 _10-3_7
11 11 11 11
Thus, Required number is 1—71
Mental Gym
1. a. Two-eighths is two parts out of eight.
b. One-thirdis one part out of three.
c. Four-ninths is four parts out of nine.
2. a. In %, 7 is the Denominator.
b. In %, 13 is the Numerator.
c. In %, 16 is the Numerator.
2 5
3. a. ? b. ? C.
3 9
HOTS
a. odd= %
c. more than 70 = %
e. between 30 and SO:%or%
Have a fun

l. Manu got % part of the cake.

2

Kuber, Manu and Kanu together ate 1

How many candles are there on the cake? 7

What fraction of candles are burning? —;

AN A i

What fraction of candles not lightening? %

6 1

G d 5

12 7

5 b %

even=l

less tha11825 =2 ori
8 4

Oorjaand Kanu together got 1 parts of the cake.
3 parts of the cake.

Time and Calendar[ll

Exercise 7.1

1. a. 60 Seconds=1minute b.
c. 24hours=1day d.
2. a. 2months=2 x30days

=60days

Mathematics-3 48
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7 days =1 week
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5 months=>5 x 30 days (1 month =30 days)
=150days
7 months =7 x 30 days (1 month=30 days)
=210days
6 weeks =6 x7days (1 week="7 days)
=42 days
8 weeks =8 x 7 days (1 week =7 days)
=56days
10 weeks =10 x 7 days (1 week="7 days)
=70days
2months3days =2x30+3days (1 months=30 day)
=60+3 days=63 days
6 months 10days =6x30+10days (1 months =30 day)
=180+ 10days=190days
9months 15 days =9 %30+ 15 days (1 months =30 days)
=270+ 15 days=285 days
S5weeks4days =5x7+4 (1 week =7 days)
=35+4days=39 days
6weeks6days =6x7+4days
=42+4 days=46days

3weeks3days =3x7+3days (1 week="7 days)
=21+3 days=24days

3hours =3 %60 min (1 hrs.=60min)
=180 min

4hours =4 x 60 min (1 hrs.=60 min)
=240 min

Shours =5x60min (1 hrs.=60min)
=300 min

10 hours =10 x 60 min (1 hrs.=60 min)
=600 min

2 hours 10 minutes =2 % 60+ 10 min (1 hrs=60 min)

=120+ 10min=130min
5hours 5 minutes =5 % 60+ 5 min
=300+ 5min=305min

3minutes =30x%60sec (1 min=60 sec)
=180sec

Sminutes =5x60sec (1 min=60 sec)
=300sec

7minutes =7 %60sec (1 min=60 sec)
=420sec

10 minutes =10 % 60 sec (1 min= 60 sec)
=600 sec

2 hours 10 minutes =(2 x 60 x 60+ 10 % 60) sec
(1 hrs.=60min; I min=60 sec)
=7200+ 600 sec=7800 sec
5hours 10 seconds =(5x 60 %60+ 10) sec
(1 hrs=60min, 1 min=60 sec)
=18000+10sec=18010sec
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6. a. 3days=3x24hrs=72 hrs (1 day = 24 hrs)
b. 4 days=4 x 24 hrs =96 hrs (1 day = 24 hrs)
c. 6days=06 x 24 hrs =144 hrs (1 day = 24 hrs)
d. 9days=9 x24 hrs=216 hrs (1 day = 24 hrs)
e. S5days=5x24hrs=120 hrs (1 day = 24 hrs)
f. 7 days=7x 24 hrs =168 hrs (1 day = 24 hrs)
’
Exercise 7.2
1. b. 4:00
e. 5:15
2. b.
e.
’
Exercise 7.3
1. a. 5Minutes Past b. 30 Minutes Past
c. 30 Minutes Past d. 25Minutes Past
e. 15 Minutes Past f. 30 Minutes Past
g. 15Minutes Past h. 30 Minutes Past
2. b. C.
e. f.

10:35
3. b. LHand:at4 A\ c¢. LHand:8
S Hand : between : S Hand : between
12and 1 3and4
d. LHand:at2 e. LHand:10
S Hand : between S Hand : between
10and 11 8and7
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d. LHand:at4
S Hand : between
6and7

Exercise 7.4

a. 6:25pmlhi)7:25pmlhi>8:25pmlhi>9:25pm

b. 5:55pmlhi>6:55pmlhi>7:55pmlhi>8:55pm

. 11:30pm 25 12:30am 455 1230 am 5 5230 am

d. 3:05pmﬂ)4:05pmlhi>5:05pmlhi>6:05pm
1 hrs 1 hrs

6:00pm ———> 7:00pm ——> 8: 00 pm
10:30pm ——> 11:30pm ——— 12:30am
12:00 pm lam 2:00am

6:30pm —> 7:30pm —> 8:30pm
1:40pm ——>2:40pm —— 3:40pm
4:05pm —>5:05pm ——> 6:05pm

The hour-hand takes 2 hours to move from 2 to 4.

The minute-hand takes 10 minutes to move from 2 to 4.
The hour-hand takes 4 hours to move from 1 to 5.

How many minutes are there in 1 hour ? 60 min

The Sunrisesat6:55a.m. f. Igetupat7:00a.m.
Ihavelunchat2:00a.m. h. Thaveteaat4:00p.m.
Igotobedat9:00p.m. j- Schoolendsat3:00p.m.

There are 15 minutes in a quarter hour.
There are 30 minutes in halfan hour.
There are 45 minutes in three quarter hour.
There are 60 minutes in one hour.

There are 60 seconds in one minute.
There are 300 seconds in five minutes.
There are 24 hours in one day.

6 :30 means 6 hours and 30 minutes.

8 : 45 means 8 hours and 45 minutes.
Thirty-five pastnine is the same as 9 : 35.
Fifty past fouris the same as 4 : 50.

Exercise 7.5

Awarking time = quarterto 7
Time taken to get away for school =30 min
Time at which she is ready for school =6 : 45+ 30 min

EC P NOT OB S FTRO AL TS MO AS o

+ i + i
6:45minﬂ> 7:00min ﬂﬂ:lSmin
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8.
9.
13.

Starting time of cartoon=6: 00 pm

Ending time of cartoon= 8 : 00 pm

Total time for which he watch T.V.=6: 00 pm—— 8 : 00 pm =2 hrs
Time at which students went formove=11:30am

Time at which they came back=3: 00 pm

Total time spend=11:30amto 3 : 00 pm

30 min 1 hrs 1 hrs 1 hrs
11:30am «— 12:00moon <«— 1:00pm «<— 2:00pm <— 3:00pm

1 hrs+ 1 hrs+ 1 hr+30min=3 hrs 30 min
Starting time =7 : 00 pm

Casting time =15 min
Finishtime=7:30+15min=7:45

Excrcise 7.6

a. Mr. Sharma was sick from the 21st March to the 27th March. He was ill for
67 days. He went back to work on 28 March which was a Monday.

b. Puja went to Delhi on the 20th of May and returned on the 31st of May.

She was away for 11 days. The 3 1st of May was a Tuesday.

The Manan holidays are from the 21st of November to the 14th of

December. We have 24 days holidays.

2000 is leap year because February has only 29 days.

The third month of the year is March.

The last month of the year is December.

November is the second last month of the year.

June month lies between the month of May and July.

There are 31 days in the month of May.

How many days will be there in February 2008 ? 366 days

Avyearhas 12 months. b. Amonthhas30/31 days.

Avyearhas 365 days. d. Aweek has 7 days.

February is the shortest month of the year.

There are Seven months having 31 days.

January is the first month of the year.

. Decemberis the last month of the year.

29 days. 5. 12thmonths. 6. 366days.

January March May July

August October December

April June September November

Do yourself 10. August 11. January 12. November

September

iy

fOoPO TR SO A

Mental Gym
l.a2.a3.a4.b5.c6.b7.¢c8.d

HOTS

The hour hand of a clock goes once around the face of the clock in 12 hours. How many
times does it go around the face of the clock in one day? 2 time

The date on the first Thursday of a month is 4. The date on the second Thursday of the
month will be 11.
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Exercise 8.1

There are 20, 5Pcoinsin¥ 1. (X 1=100p; 100+5=20 coins)

Thereare2,50Pcoinsin¥ 1. (X 1=100p; 100+ 50=2 coins)

Thereare4,25Pcoinsin? 1. (X 1=100p; 100+25=4 coins)

There are 5,20 Pcoinsin¥ 1. (R 1=100p; 100+20=5 coins)

Thereare 10, 10 Pcoinsin% 1. (X 1 =100p; 100+ 10=10 coins)

There are 20,25 PcoinsinI 5. (X 1=100p;¥5=500p;
500+25=20coins)

Thereare 4,25 PcoinsinS0P. (X 1=100p; 100+25=4 coins)

Thereare 10,5 Pcoinsin 50 P. (50 +5=10 coins)

There are 6,25 P coinsin¥ 1.50. (X 1=100p;T 1.50+5=20 coins)

Twenty five rupees and fifty paise is written as ¥ 25.50

Three rupees and twenty paise is written as I 3.20

Eightrupees and six paise is written as X 8.06

2.70x100=270p c. T17.40x100=1740p
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d. %19.50x100=1950p e. T137.75%100=13775p

f. T20x100=2000p g. %5.05x100=505p
h. %19.17x100=1917p i, %15.06x100=1506p
. %50.00% 100=5000p

3. b 359+100=%3.59 c. 1748+100=%17.48
d. 14320+100=% 143.20 e. 7777+100=377.77
£ 775+100=%7.75 g. 9070+100=%90.70
h.  6065+100=%60.65 i, 1565+100=%15.65
j. 1678+100=%16.78 k. 1745+100=% 17.45
. 2476+100=324.76

Exercise 8.2

1.  (1=100P;100P=31)
b. 242525 ¢ %136.35 d % 72.72
+3% 62.78 +3 96.05 +3126.84
42525P 13635P 7272 P
+6278P + 9605P +12684P
48803 P 23240P 19956 P
Ans. T 488.03 Ans. T 232.40 Ans. T 199.56
€. 3 27.29 f. 193.40
+%  9.07 +3207.48
2729P 19340P
+907P +20748P
3636P 40088 P
Ans. ¥ 36.36 Ans. ¥400.88
2. a F p b T P C. F P d. F P
43 .70 45 . 88 25 .75 250 . 70
+22 .00 +24 .70 +36 .35 +35 .35
65 . 70 70 . 58 62 . 10 286 . 05
Ans. 65.70 Ans. 70.58 Ans. 62.10 Ans. 286.05
e T P f T P g % P h. T P
159 . 59 225 . 72 200 . 15 760 . 00
+73 .20 +74 . 34 +67 .35 + 74 . 00
232 .79 300 . 06 267 . 50 834 . 00
Ans. 232.79 Ans. 300.06 Ans. 267.50 Ans. 834.00
Exercise 8.3
(Z1=100P;100P=31)
2. 73934 3 29932 4 270.00
- T65.47 - %10.00 — T 45.72
8934 P 9937 P 7000 P
—6547P ~1000P —4572P
2387P 8937P 2428 P
Ans. ¥ 23.87 Ans. ¥ 89.37 Ans. T 24.28
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5.

3522.67

-3 32.64

52267P
—3264P
49003 P
Ans. T 490.03

I P
95 . 40

- 15 . 35
80 . 05
Ans. ¥ 80.05

O
67 . 45

-35 .13
32 .32
Ans. 3 32.32

a. Z17x5=X%85

c. 85 x38
= 3680
a T P
12 . 65
x 3
37 .95
€. I P
27 . 30
x 4
109 . 20
320-+5
4
5) 20
-20
_0
320+5=34

6.

3540.00
-3 64.20
54000P
—6420P
47580P
Ans. T 475.80

Exercise 8.4

I P
99 . 80

— 77 . 70
22 .10
Ans.$22.10

X P
122 . 15

- 30 .10
92 . 05
Ans. 3 92.05

4.

I P
89 . 28

- 63 .15
26 .13
Ans. T 26.13

X P
136 . 65

- 45 . 36
91 . 29
Ans.391.29

Exercise 8.5

17
x 5
Z8 5

15 . 80
x 3
47 . 10

b.

g.

8 paise X 4 =32 paise

50 paisex 6
=300 paise

I P
52 . 82

x 4
211 . 28
T P
13 . 80
x5
69 . 00

Exercise 8.6

2. %80+8

10

8) 80

—380

0

¥80+10=X10

99

5, 54 P
80 . 44
—50 . 30
30 . 14
Ans. T 30.14
8 P
x 4
3 2P
5 0P
X 6
300P
d. T P
10 . 10
x 7
70 . 70
h. 3 P
33 . 35
x 2
66 . 70
3120+12
10
12) 120
— 120
_0
3120+12=10
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